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COMPUTER APPLICATION

Full Marts - 70

Pass Marks - 28

, Time - Three hours

The figures in the margin indicate firll ntarks
for the questions..

Answer question No.l and any four from the rest.

l. (a) Fill in the blanks : l.'S=S

(i) MS-DOS commands can b€ of two q/p€s
which are 

- 
-d - commands.

(iD LAN stands for

(iii) The wor*s as an interface
between hardware and user.

(iviAsc[ stands for

(v) I Kilobyte--byt€s.

[Tum over



(b) State true or false : lx5:5

(i) Mouse is an input deyice.

(ii) The BCD equivalent of 72 is 10010000.

. (iii) The keyboard shortcut command fbr
saving a document is "Ctrl + W".

(iv) Switch is a network device.

(v) Interpreters are faster than compilers.

2. (a) Convert the following : 5x2:10

(i) I I l0l'l101, to decimal

(ii) 125'75r0 to binary

' (iii) I l0l l0l I 12 to hexadecimal

(iv) 3AB,u to octal

(v) 125,0 to BCD.

itl Ciu. 2's complement of rhe I I 10. I

(c) Give I's complement and l0's complement
of l'n45. 2

(d) Perform the subtraction of ll00l by lll.
2
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3. (a) Defure an Operating Sysrem. Explain in brief
the basic functions. 2+4:6

(b) What are the differences between a single-
user OS and a multi-user OS ? Explain with
examples. . 3+2:5

(c) What are the differences between LAN and
WAN ?

4. (a) What is a spreadsheet ? How many rows and
columns are available in MS-Excel
spreadsheet ? 5

(b) What is MS-Offrce ? Write about different
Oflice tools. 2+3=19

5. (a) Define language translation. Write about the

different types of languages used in computef
with examples . 6

(b) What is a pointing device and why is it called
so ? Give examples. 4

(c) What are the different types of printers you

know ? Explain them with examples. 5
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6' (a) What are the advantajcs of nehvorking ?

Whal do you m€an by topolos/ ? Describe.
thc,diffetent network. topologies.' 2+6=8

Write the use of the folowing commqnds in
DOS : ! l+l+l==3

(D CpPYCON

(ii) DELTREE

. (iii)DrR/P

Wrirc.$ort..n9tes 6.rry ttuee | 3x5=15
(a)'Cbb brorvscrs

3200(Y)

o)

(c)
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